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({ii) x* + 323 +3x2 +x + 1 (iV)x®—x2—(2+V2)x +V2
3wl

(AT p(x)=x+x2+x+1
x+1=0TE1 0 x = -1

UYHA TG & HTER p(x) =3 + 22 + 2+ 1S 1+ 1 ¥ 4T &7 O A9
p(—1)

= (1P +(-12 4+ (-1 +1

=—-1+1-1+1

=0

TEl BA p(—1) = 0, Hd:x+ 1, 3 +x2 + x+ 1 &1 UGS &

(A plx)=x*+x3+x?+x+1
x+1=0TEIW, x = —1
IEA T F TR plx) =x* +x + 22 +x+ 13 x+ 1 ¥ YT & W ANHd
p(—1)

= (=14 4+ (-1 + (-1)2+ (-1) + 1

=1-1+1-1+1

=1

Tl UBAp(—1) 2 0, A x + 1, x* +x° +x% +x+ 1 FPAES 7 2

(

([ii)) AT p(x) =x*+3x¥ +3x* +x+ 1
x+1=0T@IW x= -1

TGS W F ITIR px) = x* + 3x° + 32 + x + 1B x + 1 YT 37 W Juha

p(-1)

= (=1 +3(—1P +3(-1¥¢+ (-1 +1
=1-343-1+4+1

=1
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www.tiwariacademy.com
A Step towards free Education

—-—— —
= — —

1




mhora

(www.tiwariacademy.com)

(T — 2) (dgus)
(FET-9)
(V) T T p(x) = x° —x2 = (2 +V2)x + V2
x+1=0T@ W x = -1

TG W F 3R p(x) =23 —x° — (2+V2)x+vZ B x + 1 & 4T 37 W I
p(—1)

= (13- (=12 - (2+2) ~D +V2

=—1-1+2+42+42

=2./2

Tgl B p(—1) £ 0, HEx + 1, ¥ —x — (2+V2)x + 2 B UFES TE &I

M3 2:
TUHES WHY @R $3 garst & Fofates R o ¥ uds a0 g(x), p(x) &1 0H

TUFES § 91 76|

Mpx)=2x"+x*-2x-1, glx)=x+1
(([ip(x)=x?+3x*+3x+1, glx)=x+2
(i) p(x) =x*—4x*+x+6, glx)=x-3

£Im2: |
Mpx)=2x*+x2-2x—1 AN g(x)Ex+1
x+1=0TW@AW, x = -1

UNEE W F AR plx) = 2x° + 2% = 2x = 1F glx) = x+ 1 U 27 R 99ha

p(—1)
=(-12+(-12+(-1D+1
==14+1-1+1

=0

TEl Y9Bd p(—1) = 0, 3d: g(x), p(x) BT UGS g

[ii}p(x)=r3+3x2+31+1&ﬂ?gix}=x+2
x+2=0TE@TW x = -2
TG TG & HTER p(x) = 2% + 3x2 + 3x + 1 B! g(x) = x + 2 T YT 34 W) I9HT

p(=2)
=(=2P +3(-2P2 +3(-2)+1
-8+12—-6+1

]
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www.tiwariacademy.com
A Step towards free Education

- —
—— — —

2




mhora

(www.tiwariacademy.com)

(3reTg — 2) (¥gUS)
(&I - 9)
(i) p(x) =x* —4x> + x + 63X g(x) =x—3
x—3=0TETW, x =3

THEA THA & HTAR plx) =x° —4x2 +x+ 6 g(x) = x — 3 © UM &4 X I9HA

p(3)

=37 -4(3)*+(3+6
=27-36+3+6

=0

Tgl, T9Ed p(3) = 0, 3 g(x), p(x) BIFEEES B

M3 3:

%ﬂﬂﬂﬁﬁﬁﬁﬁmﬁﬁﬁ?ﬁaﬁﬁﬁﬁmﬁﬁmmﬁ (x — 1), p(x) 1 TH UGS
|

(px)=x+x+k (ii) p(x) = 2x2 + kx + 2

(iii) p(x) = kx? —v2x + 1 (iv) p(x) = kx2 = 3x + k

.33

(px)=x*+x+k

x—1=0TW@ W x=1 ’

G UG & AR plx) = x% + x FRPY x— 1 43 T A
p(1)

=1+ (L +k

=24k

Rag @ x — 1, plx) FTUFEEE 81 3

'S?I'El'ﬁlp{l}=l]
=22+k=0
=k=-2

(ii) p(x) = 2x2 + kx + 2
x—1=0T@ W x=1

NG U F HFAR p(x) = 2x2 + kx + V2B x — 1 F YT &7 02 e
p(1)

=2(1)2 + k(1) + 2

=2+k+42

fagfd x — 1, p(x) FTIUFAES 81 3

Y%A p(1) = 0

22+k+42=0

sk==2=42
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(iii) p(x) = kx? —V2x + 1
x—1=0TWETW x =1
G THT & AR p(x) = kx’ —VZx + 1F x — 1 F YT &3 W I

p(1)
= k(1) =2(1) + 1

Ruai - =
x=1, plx) FIHES 5| A
Y% p(1) = 0

=2k—y2+1=0

==k=ﬁ—1

(iv)p(x) = kx® = 3x+ k
x—1=0T@ TR x =1
UG W & AR p(x) = kx” — 3x + kD x— 1 T U A W I9Gd

p(1)
=k(1)2-3(D+k
AN e
x—1, p(x) PGS &1 3 [
NG p(1) = 0
=2k—3=0
#ﬁ::%
¥ 4;
TUFES 1d ST
(i)12x*-7x+1 (ii)2x*+7x+3
(iii) 6x2 + 5x — 6 (iv) 3x2 —x — 4
£IW4:

(i) 12x* = Tx+1
=12x*—(4+3x+1
=12x2—4x-3x+1
=4x(3x—-1)-1(3x - 1)
=(3x-1)(4x-1)

(ii) 2x* + 7x + 3
=2x*+(6+1)x+3
=2x2+6x+x+3
=2x(x+3)+1(x+ 3)
=(x+3)(2x+ 1)
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(iii) 6x2 + 5x — 6
=6x2+(9-4)x—-6
=6x*+9x—4x—6

= 3x(2x + 3) — 2(2x + 3)
=(2x+ 3)(3x-2)

(iv)3x2—x—4
=3x2—-(4-3)x—-4
=3x*—4x+3x—4
=x(3x—-4+1(3x—-4)
=(Bx—-4(x+1)

H¥A 5:

ﬂﬂﬁﬁgﬁlﬁﬂﬁﬁm

(i()x* —2x? —x+2 (i) x* —3x2—9x—5
(iii) x? + 13x%2 + 32x + 20 (iv)2y? +y* —2y—1
IS5

(()x* —2x* —x+ 2

A p(x)=x¥—2x2 —x+ 2 /

x =11 W

p(1) =1 -2(1)* - (D) +2=1-24142=0

= x — 1, p(x) FUAES g

xt—x—-2

x—1 | x*—2x*—x+2

3, plx) = (x = 1)(x* —x - 2)
=(x—1)x*=-x—-2)
=(x—=1)[x?=-(2-1)x-2]
=(x—-1)[x*-2x+x-2]
=(x—1)[x(x—2)+1(x — 2)]
={x—1)x—-2)(x+ 1)
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((i) x*—3x2-9x -5
A p(x) = x* — 322 —9x - 5
x=1TE W
p(1)=(1*-3(1)2 =-9(1)-5=1-3-9-5==16 %0
x=—1TE W
p(-1)=(-1)-3(-1)2-9(-1)-5=-1-3+9-5=0
= x+ 1, p(x) BT OHES 2|

xt—4x—-5

x+1 x?—3x*—9x -5
x*+ x*t
ey ® o Qg —
—4x° — 4x
+  +
-5x—-5
—5x -5
+ +
0

HaE:, p(x) = (x + 1M(x2 —4x = 5)
=(x+1)(x%®—4x-175) ‘/
=(x+Dx*-(5-1)x-5]
= (x+ 1)[x* — 5x + x — 5]
= (x+ 1)[x(x = 5) + 1(x = 5)]
=(x+1)(x=5(x+1)
(iii) x* + 13x2 + 32x + 20
AT p(x) = x* + 13x* + 32x + 20
x=—1TA W
p(—1) = (1)} +13(-1)2+32(-1) +20 = -1+ 13-32+20=0
= x+ 1, p(x) TIUHES 5|

x24+12x + 20

x+1 x3+13x2 +32x+ 20
x3 4+ x?
12x% 4+ 32x + 20
12x% 4+ 12x

20x + 20
20x + 20

0
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3, p(x) = (x 4+ 1(x% + 12x + 20)

(x + 1)(x® +12x + 20)

(x + 1)[x2 + (10 + 2)x + 20]
= (x 4+ 1)[x* + 10x + 2x + 20]

= (x+ 1)[x(x+10) + 2(x + 10)]
=(x+ 1)(x+10)(x + 2)

(iv)2y® +yi—-2y—1
Ap(y) =y*+y* -2y -1

y = —1 3@ W
p(-1)=2(-12+(-1)*-2(-1)-1=-2+1+2-1=0
=y+1, p(y) HTUFES &
2yt —y—1
y+1 | 2y*+y*-2y-—1
2y + 2y°
-yt =2y-1
e S
+  +
7 —}?—1
[ il
al  +
0

M, p(y) = (y+ 1D(2y* -y - 1)
=(y+1)(2yi-y-1)
=(y+1)[2y - (2-1)y-1]
=(y+ 12y -2y +y-1]
=+ 1D[2y(y-1)+1(y-1)]
=(y+ 1y -1)(2y + 1)
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